WEEK TEST IV - MENTAL ABILITY EXPLANATION

151. In how much time will the simple interest on X 3,000 at the rate of 8% per annum be the same as
simple interest on X 4,000 at 12% per annum for 4 years?
a. 4 b. 8 c. 12 d.6
5.3,000 SIFVHSG oenih 8% e aupmIBILGD Heleu uiterd 54,000 SiFHSH pIBHGH 12%
6l 4 DLW (BHEHDHEG QUPRISLILGBLD Heleul 9@ HSITGHID SHT60D 6T6d601?
a. 4 b. 8 c. 12 d.6

Explanation:

Let the required number of years be x

Principal P1 = X 3000

Rate of interest (r) =8 %

Time (nm1) = n1 years

3000 = B = n,
100

Simple Interest Iy =

=240 nq
Principal (P5) = ¥ 4000
Rate of interest (r) = 12%

Time n; = 4 years

4000 = 12 = 4
100

Simple Interest [; =
I, = 1920
]f [: = ]2

= 3

.. The required time = 8 years

152. A principal becomes X 10,050 at the rate of 10% in 5 years. Find the principal.
a. 33,350 b.< 3,700 c.X 6,700 d.X 6,000
@I o emiGsg 10% ey aigsdd 5 aumibseics I 10,050eus o wihss aaled, SiFmevd
BTG5,

a. 33,350 b.X 3,700 c.X 6,700 d. < 6,000

Explanation:

A =%10,050

n =5 years

r=10%

P =?

For calculating principal with the given data, we proceed as follows. We know that,



153.

154.

A =p| 14 ”"]

| 10X 5
Therefore, 10, 050 =P| 1+-—— ’]

Therefore, P = 10,050 xg =6700

The Population of a village grows by r% every year. In 2 years the population increases from
10000 to 11025. Then r is

a.b5 b.3.5 @25 d.1.5

QM BPTDSHH  105H6NT  OHTend  LETOLTIBISEG % oisd FJTs gnigd Csmen(h OCFeBBH. 2
eIBH6Me0 &HH6eTEGHTeN®d 10000 HHedhba 11025 5 iHslHemengl. eealled r sleilalene]?

a.b5 b.3.5 c.2.5 d.1.5

Explanation:

. . . r n
Increase in population = population £1+ mj

2
11025 = 10000 (1+ Lj
100

%) ()

— | =1+ —

100 100

105y ,_r

100 100
r=5%

Find the S.I on ¥ 12,000 from May 215t 2021 to August 2nd 2021 at 9 % per annum.

a. 192 b. 264 c. 216 d. 168

5.12,0005& 9% o eullp efsd 21 G 2021 eHbBH 2 Spderol 2021 euedy  HedLBGLD
SNl 19enul  HT6mTH

a. 192 b. 264 c. 216 d. 168
Explanation:

Total Number of Days = 73 days

Period = A = 1 years
365 5



_ PNR

T 100
~12000x1x9
~ 100x5
=216

SI

155. The difference between the compound interest and simple interest on a certain principal is at

156.

157.

10% per year for 3 years is X 31. Find the principal.

a. Rs. 1000 b. Rs. 1500 c. Rs. 10000 d. Rs. 15000

3 oemipseier, uMIBHG 10 FHaish e Sglimiuied, @m GEUUILL CFTmassTar Haf aully
LBBID i Senaled GFTHsILBL LG el FHuaBBsd L Cuuwrear alsHHwnsd p.31
aaey, SbHHdH BTN el6lal6e]?

a. Rs. 1000 b. Rs. 1500 c. Rs. 10000 d. Rs. 15000

Explanation:

2
Diﬁerence:P(L L+3j
100/ \ 100
2
p(ﬁj (£+3j:31
100/ \ 100

2
HiEe
10/ \10
P=31x (@j
31

P =1000

A certain sum of money amounts to X 6,500 in 3 years and ¥ 5,750 in 1% years respectively. Find

the principal.
a. Rs. 1000 b. Rs. 10000 c. Rs. 5000 d. Rs. 1500

Qm GHUUILLS OFTenswmeaigd 3 SieGseisd @5.6,500 Sida|b 1% SieamiGaeflsd 055,750 uHa|b
LOTBISHBSHI, 6TEN60 DIFEN6D HTEWTH

a. Rs. 1000 b. Rs. 10000 c. Rs. 5000 d. Rs. 1500
Explanation:

Interest in 1.5 years = 6500 - 5750 = 750
Interest in 3 years = 750%2 = 1500
Principal = 6500 - 1500 = 5000

If the rate of interest for the first year, second year and third year be 8%, 9%, and 10%
respectively, what will be the amount after 3 years of Rs. 25000 if the rate of interest
compounded annually?

a. Rs. 33373 b. Rs. 33273 c. Rs. 32373 d. Rs. 33723

(PHO YW, GOIeUILTD 6w WOBEBID  APSIBTD  YwIBHsTar g aldsd (weapGuw 8%, 9%
wppb 10% s BmHbHTe0, UETHHEEBTHIPmB ULl HauidHL UG (pampuied 3 THSEHEHGSLI
Up& 5.250005@& HdLSGW OFHTens 66ileuene|?

a. Rs. 33373 b. Rs. 33273 c. Rs. 32373 d. Rs. 33723



158.

159.

Explanation:

108 109 110
X X

100 100 100
=32373

= 25000 x

The time taken for X 4400 to become X 4851 at 10%, compounded half yearly is?
a.1year b.1 %years c. 2 years d.2 %years

10% ouewiG euliguiled, SIEDIUITHTIBHHOBTHIPMB Ul lgdh  HeurdA LU Lmeo, I 4400 eyeng I 4851
AP THHM eI DGLD?

a.1year b.1 %years c. 2 years d.2 %years

Explanation:

5 2n
4851 = 4400 (1 + — )
100

i 2n
100 + 5
4851 = 4400 (7'
100
4851 105)2"
4400\ 100
. 21 2n
-\ 20
21\ 4851
20/ 4400
2n B 21 2
S\ 20
n=2n=1
If the simple interest for an amount at 4% per annum for 3 years is Rs. 1,200. Find the
compound interest at the same rate for the same amount for 2 years.
a. Rs. 10,116 b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816
Rk GPUILL QFHTddHE& 3 auBLSH0 4% el aipsded . 1,200 soflally SHoLsdng. 91065

CaTeanasd 96k 'y aihHHe0 2 aUBLEHHD HMLEGWD gl (B eully wrgl?
a. Rs. 10,116 b. Rs. 10,720 c. Rs. 10,616 d. Rs. 816

b | b2
= | =

o]

Explanation:

~ 1200x100
12
10000

P



2
A =10000 104
100

=10816
Cl =10816-10000
=816

160. A sum of Rs. 12,000 deposited at compound interest becomes double after 5 years. After 20
years, it will becomes

a. Rs. 1,92,000 b. Rs. 1,20,000 c. Rs. 1,24,000 d. Rs. 60,000

&G alipuied WHeSh OEFuwiulL  ep. 12,000 OgTemswTargd QbSTD Bl (Wyalsd @6 ®
DL BISTH BHMH 6lafe0, DbH OFHTensd 20-10 au@bL (igalled eTelalena] SL&ull(HHESLD.

a. en. 1,92,000 b. ep. 1,20,000 c. ap. 1,24,000 d. em. 60,000

Explanation:

12000 becomes twice in 5 years = 12000 x 2 = 24000
After another 5 years = 24000 x 2 = 48000

After another 5 years = 48000 x 2 = 96000

After another 5 years = 96000 x 2 = 1,92,000

=~ After 20 years sum will be = 192000

161. A sum of money becomes eight times of itself in 3 years at compound interest. The rate of
interest per annum is:
a. 100% b. 80% c. 20% d. 10%
&HLB aullgshd al UGB @b GUIUILL Oxtms 3 Siebseisd D GuTeL 6 (B L RISTHBS
eTefled SLeWI(h QUL AIHLD 6T6i6U6TT6Y 7
a. 100% b. 80% c. 20% d.10%

Explanation:

Il
o0
|
L
4
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o
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162. The difference between the simple interest and the compound interest at the rate of 12% per
annum on Rs. 5,000 for 2 year will be

a. Rs. 17.50 b. Rs. 36 c.Rs. 45 d.Rs. 72
 5,00068 2 opmibsefied 12% ey aldssHed sHefeully WBBID gl (G U 19sSTer allshaSWTFLD
a. .17.50 b. em. 36 c. em. 45 d. . 72

Explanation:



2
- 5000(3)
100

=72

163. Ilakkiya deposits Rs. 600 per month for 20 months in Recurring Deposit in Post Office. Calculate

164.

165.

the maturity value of this account, if the interest at the rate of 10% per annum.

a. Rs. 12,000 b. Rs. 13,050 c. Rs. 1,050 d. Rs. 9,504

BT HUTEL HlemeowlHHev 20 OTHHIBEHGHE WIS @H.600 CHTLT HaullHoHTmswTs CFasHd)
abFHTT etafled, auBLSHBEG 10% eau'ly aidshded ST QUL (PHTey CHTEMHMUI SIS

a. Rs. 12,000 b. Rs. 13,050 c. Rs. 1,050 d. Rs. 9,504

Explanation:

nn+1) r
W
212 100
20020-1y 10
2x12 100
20

xﬁ.

SL=P

= 600

= 600

S5.I=Rs 1,050

The amount that Ilakkiya will get at the time of maturity
= Rs (600 x 20)+ Rs 1,050

= Rs 12,000+ Rs 1,050

= Rs 13,050 Ans.

A sum of money triples itself at 8% per annum over certain time. The number of years is equal to

a.24 b. 25 c. 20 d.12

THHMAT THEB6T (PIgalled @b GUIILL Feoreig 8% aillp aihHHed eyl DL BISTGID?
a.24 b. 25 c. 20 d.12

Explanation:

After 8 years it triples . So it becomes 3x.
So the simple interest is 3x—x=2x
XXIx8
100
r=25%

Find the compound interest on ¥ 1000 at the rate of 10% per annum for 18 months when interest
is compounded half-yearly.

a.157.625 b. 162.571 c. 152.654 d. 126.571

SIM] UMIBHEGH @ (LPOB Iy FNIL ST CFTHBUILILLT6L 100053 pewi® eullg aisd 10%
aiglilg, 18 WTHHSEHHGHD Fnl B QIllg SHTRIALD.

a.157.625 b. 162.571 c. 152.654 d. 126.571

Explanation:



. ,2n
=P 1+ R\
200/
ol
- V2
=Rs. 1000 x |1+ -2 | *
. 200
; 19
=Rs. 1000 x | 14— |
| 20)
(21
= Rs, 1000 % | 23

D'I

= Rs. 1000 x 21,21, 21
20 20 20
= Rs. 1157.625

Compound interest = Amount - Principal
= Rs. 1157.625 - Rs. 1000
= Rs. 157.625



